Quiz

1. The measure of the squared deviations of a security's returns from its expected return is called the:
A. mean.
B. correlation coefficient.
C. standard deviation.
D. covariance.

E. variance.
The mean is the average, or expected, return.

2. Which of the following relate the performance of one to security to that of another security?
. correlation

Il. variance
I11. covariance
IV. standard deviation
A. lonly
B. land IV only
C. Iland Il only
D. land Il only
E. 11, 11, and IV only

Correlation and covariance relate the performance of one security to another security.

3. A stock has the following expected rates of return. Each state of the economy is equally likely to occur. What
is the variance of these returns?

A. .004802

B. .005138

C. .006467

D. .007410

E. .009700

Variance = Sum of squared deviations / N.

4. The common stock of Olsen Shipping has an expected rate of return of 15.42 percent and a variance of
.007248. What is the standard deviation of the returns on this stock?

A. 91 percent

B. 8.51 percent

C. 08 percent

D. 13 percent

E. 47 percent

The standard deviation is the square root of the variance.

5. Which one of the following statements is correct?
A. The variance is easier to understand than the standard deviation.
B. When comparing securities, low-variance securities are high-standard deviation securities.
C. A negative variance security has less volatility that a positive variance security.
D. The correlation is the square root of the covariance.

E. The correlation coefficient must be greater than or equal to -1 and equal to or less than +1.
The standard deviation is easier to understand because the variance is a squared value.



6. Parker Sisters stock has an expected return of 12.8 percent with a standard deviation of 7.6 percent. Lowry
Brothers stock has an expected return of 16.3 percent and a standard deviation of 13.9 percent. The covariance
of the returns on these two stocks is 0.001842. What is the correlation coefficient?

A. .083409

B. .088286

C. .163667

D. .174366

E. .182121
Corr(Ra, Rs) = Cov(Ra,Rs) / &#963;a X &#963;s.

7. Two stocks have the following expected returns given various states of the economy. Each state of the
economy has an equal chance of occurrence. What is the covariance of the returns on these two stocks?
A. -.001221

B. -.001327
C. -.001384
D. -.001942
E. -.001973

The sum of the product of the deviations is -.003663.
8. The investment manager of Babson Securities is studying the relationship of stock A to stock B. Given the

various states of the economy, the expected returns for each stock are shown below. Each state of the economy
has an equal chance of occurring. What is the covariance of the returns on these two stocks?

A. .008023

B. .011419

C. .014680

D. .016071

E. .017414
The sum of the product of the deviations is .0587215

9. Currently, Sand Stone Gems has a return of 15.6 percent for the year and has an average return for the past
ten years of 12.1 percent. Meanwhile, Deep Creek Mines has a return of 6.7 percent for the year and an average
return for the past ten years of 9.1 percent. Given this, you can assume that the:

A. standard deviation of the returns on Sand Stone Gems is negative.

B. standard deviation of the returns on Deep Creek Mines is negative.

C. covariance of the returns on these two stocks is negative.

D. covariance of the returns on these two stocks is zero.

E. correlation of the returns on these two stocks is zero.
Both the covariance and the correlation coefficient will be negative

10. If the rates of return on two stocks are unrelated, the covariance of the two stocks should be:
A. -100.
B. -1.
C. 0.
D. 1.
E. 100.

If the returns are unrelated, the covariance should be zero.



